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Define Industry and highlight the significance of Industrialization in India. g ® ,

OR

Explain in short the Weber's Theory of Industrial Location.

Explain various factors hampering Industrialization in India.
OR

Write a short note on dynamics of Industrial L .

Enumerate the Role of Public segtor ‘its E In 7

the post liberalization phase in India.

d explain the Problem faced by Small Scale Industries. | 7
OR
Discuss the promotional measures of the government for Small Scale Industries in
India.
Highlight the significance of Small Scale Industries in India. 7
OR
Write a note on NSIC and SIDC.

Explain in detail the Provisions of New Industrial Policy 1991. 7
OR
What measures have been taken by Government for sick industrial unit ?
What are the main causes of industrial sickness in India ?
OR

What measures have been taken by Government to solve energy crisis ?
1 P.T.O.



(1)
(2)
3)
4)
(5)
(6)

(7)
8)
)

(10)
(11

(12)
(13)

(14)

¥

MG-102

State whether the following statements are True or False (1 mark each) : 14

Weber's theory is based on deductive approach. \—

By the tertiary sector, we mean services. (-~

Weber presented his theory of Industrial location in the year 1809. Y
Manufacturing means an activity which creates time utility. y

India's mixed economy is composed of three sectors. k

The Central Statistical Organization has divided service sector into four
categories. 'S

NSIC was setup in year 1953.

The new name of IRCl is IDBIL. \ _ P ®
The Net worth of a company means Paid up share capital + Reserves of the
company. 1% \

Biogas is a Non-conventional Source of Energy..~

The Industrial Policy Statement of 1980 was based on thé{lndustrial
Resolution of 1977. N4

DIC's were set up to help large scale Indus

As per Weber's Theory of Location
location is attracted tawards ra

Technological advancgs and eco I
the growth of sepgiees Sectogiin |
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is greater than 1, then

ere the main reasons for




